
 

 
 
 

Preisuntergrenzen 7.1 

 
   € 
   (h = 1.00) 

7.11 Stundenverrechnungssatz                          
 (7.00) 

7.12 - Betriebsergebnis                          
 (7.06) 

7.13 = Preisuntergrenze 1                          
 (7.11 - 7.12) 

7.14 - kalkulatorische Kosten                          
 (7.25) 

7.15 = Preisuntergrenze 2                          
 (7.13 - 7.14) 

 

Kalkulatorische Kosten ohne Unternehmerlohn 7.2 

 
   € 
   (h = 1.00) 

7.21 Kalkulatorische Wagnisse                                       
 (3.10) 

7.22 + kalkulatorische Abschreibung                                       
 (3.20) 

7.23 + kalkulatorische Zinsen                                       
 (3.40) 

7.24 + kalkulatorische Miete                                       
 (3.50) 

 

7.25 Gesamt                                      

 


